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QUESTION 1

An ecommerce wesbite sells some custom made goods. What\\'s the natural way of modeling this data in Kafka
streams? 

A. Purchase as stream, Product as stream, Customer as stream 

B. Purchase as stream, Product as table, Customer as table 

C. Purchase as table, Product as table, Customer as table 

D. Purchase as stream, Product as table, Customer as stream 

Correct Answer: B 

Mostly-static data is modeled as a table whereas business transactions should be modeled as a stream. 

 

QUESTION 2

Which of the following setting increases the chance of batching for a Kafka Producer? 

A. Increase batch.size 

B. Increase message.max.bytes 

C. Increase the number of producer threads 

D. Increase linger.ms 

Correct Answer: D 

linger.ms forces the producer to wait to send messages, hence increasing the chance of creating batches 

 

QUESTION 3

If I want to send binary data through the REST proxy, it needs to be base64 encoded. Which component needs to
encode the binary data into base 64? 

A. The Producer 

B. The Kafka Broker 

C. Zookeeper 

D. The REST Proxy 

Correct Answer: A 

The REST Proxy requires to receive data over REST that is already base64 encoded, hence it is the responsibility of the
producer 
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QUESTION 4

A topic has three replicas and you set min.insync.replicas to 2. If two out of three replicas are not available, what
happens when a consume request is sent to broker? 

A. Data will be returned from the remaining in-sync replica 

B. An empty message will be returned 

C. NotEnoughReplicasException will be returned 

D. A new leader for the partition will be elected 

Correct Answer: A 

With this configuration, a single in-sync replica is still readable, but not writeable if the producer using acks=all 

 

QUESTION 5

Which of the following is not an Avro primitive type? 

A. string 

B. long 

C. int 

D. date 

E. null 

Correct Answer: D 

date is a logical type 
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